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Please answer the following questions in English. For Chinese examples, you can use

Chinese when citing the examples. But the analysis and generalization must be stated in
English.

Q1. The experiential aspect marker guo has been a popular issue in Chinese linguistics. Examine the data
below and answer the questions. (20%)

(a) HEi@ £
(b) /]NBA L&/
(c) FR=FHriHAs
(d) k= BTi18E = RAET
() *R=3tiB
) *FTogBE=4d-F
(8) *WAR 2B
(1). Based on the seven examples above, what kind of predicates is compatible with the experiential guo
and what kind 1s not? Use your generalization to explain why (a-d) are grammatical while (e-g) are
not. (10%)
(h) #H&F 4218
() F#AHKKRITH 1992 FREBKEAR
() BEALERBRKSYRE
(k) #&BoE R AR % 4
(2). Examine (h-k). Do these examples affect your generalization above? If yes, in what way? How will

you revise your generalization to accommodate these examples? If not, how will you explain these
examples with your previous generalization? (10%)

Q2. The X-bar theory 1s a well-accepted notation in modern syntactic theories. Use the examples below
to explain why an intermediate level 1s required between the maximal projection level and the
lexical level. (20%)

(a) Susan likes a student of linguistics. (a’) *Helen likes one (= a student) of chemistry.
(b) Susan likes a student in blue jeans. (b’) Helen likes one (= a student) in T-shirt.
(c) Susan likes a student of linguistics in blue jeans.

(¢’) Helen likes one (= a student of linguistics) in T-shirt.
(c”’) *Helen likes one (= a student) of chemistry in T-shirt.




